

$$\mathbb{K}\triangle^2 = \frac{\mathbb{L}:\star}{\overline{\mathbb{L}\star\acute{L}}^* = \acute{L}\star\mathbb{L}: \quad \mathbb{L}\star\mathbb{L} \geq 0: \quad \mathbb{L}\star\mathbb{L} = 0 \Rightarrow \mathbb{L} = 0}$$

$$\underline{\acute{a}\acute{L} + \acute{a}\acute{L}''} \star \mathbb{L} = \acute{a} \underline{\acute{L}\star\mathbb{L}} + \acute{a} \underline{\acute{L}''\star\mathbb{L}}: \quad \mathbb{L}\star \underline{\acute{a}\acute{L} + \acute{a}\acute{L}''} = \underline{\mathbb{L}\star\acute{L}} \acute{a}^* + \underline{\mathbb{L}\star\acute{L}''} \acute{a}^*$$

$$\overline{\mathbb{L}\star\acute{L}}^* = \acute{L}\star\mathbb{L}: \quad \overline{\mathbb{L}\star\acute{L}''}^* = -\acute{L}''\star\mathbb{L}$$

$$\mathbb{L}\star\acute{L} = \mathbb{L}\eta\acute{L}^*$$

$$\eta = \eta^* = \eta^{-1} \text{ symmetry}$$

$$\mathbb{L} \in \mathbb{K}\triangle$$

$$\underline{a\mathbb{L} + \acute{a}\acute{L}} \star \acute{L} = a\mathbb{L}\star\acute{L} + \acute{a}\acute{L}\star\acute{L}$$

$$\mathbb{L}\star^* \acute{L} = \acute{L}\star\mathbb{L}: \quad \mathbb{L}\star^* \acute{L} = -\acute{L}\star\mathbb{L}$$

$$\underline{\star\mathbb{L}\star\star\acute{L}} := \mathbb{L}\star\acute{L}$$